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Part A

‘ Answer all questions.
Each question carries-1 weightage.
Define the term “Finﬁncial Management”. |
Whét do you mean by Under Capitalization ?
How do you compute Present Value of Annuity ?
What do you mean Oppoi-tﬁnity Cost of Capital ?
What is Combined Leverage ‘? ' ‘
What is V-E-D Technique of Iﬂventory ?
. | (6 x 1= 6 weightage)
Part B . |

Answer any four questions.
Euach questions carries 3 weightage.

Explain in brief the funétions of Financial Management ?

Discuss in brief the 51gn1ﬁcance of Cost of Capital.

What is EBlT EPS Analysis ? How do you choose the best financing optlon using- EBIT-EPS
Analysis ? - :

Discuss in brief the diﬂ’erences between NPV and IRR Techniques.

What is Cash Budget ? Explaiﬁ the_ proceduré to prepare Cash Budget. , ‘

Discuss in brief Gordon's Model of Dividend -tlheory. » . |
' . (4 % 3=12 weightage)
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Part C

Answer any three quéstiéns
Each questwns carries 4 weightage.

A Company has the following cap1tal structure as on. 31-12-2016 :

Partlculars ' Rs. _
Equity Capital (20,000 shares) |  10,00,000 - - i
-10% Preference Share Capital - n 2,50,000 | ' |
14% Debentures o 7,50,000 | |
Total - 20,00,000

The company share is currently selhng at Rs 20. Next year expected d1v1dend is Rs. 2 per ghare '
that will grow at 6 per cent, forever. The company is in the tax bracket of 50 per cent. You are
requlred to calculate:

@iy Welghted Average Cost of Capltal based on the ex1st1ng capltal structure

(ii) New welghted average cost of capital if the company raises an additional Rs 5,00,000 debt by
issuing 15 per cent debentures. This will increase the existing dividend by Rs.] and leave:
growth rate unchanged, but the price of share will fall to Rs.15. ‘

Prudent Company limited has currentlj an all equity capital structure consisting of 15,000. equity
shares of Rs.100 each. The management is planning to raise another Rs.25,00,000 to finance a
major expansion programme and is considering three alternatives methods of finance.

1. To Issue 25,000 equ1ty shares of Rs 100 each.
II. To issue 25,000,8% Debenture of Rs.100 each. .
II1. To issue 25,000,8% Preference shares of Rs.100 each,
The company's expected EBIT will be Rs.8, 00,000., Assuming a corporate tax rate of 46 per cent.
Determine the Earning PerShare of ‘each Financial Plan and determine the best one and why_?.

ABC company is expected an EBIT of Rs. 1,00,000 whose ecluity capitalization rate (Ke) is 12.5 per
cent. Currently company has a debt camtal of Rs.4,00,000 at 8%. Calculate the value of the ﬁrm
(V) and Cost of Capital (ko) under Net income Approach of Capltal structure theory '

Case 1 : When Company increases debt by Rs.2,00,000 uses proceeds to repurchase equlty
~ - shares.

Case II When Company reduces debt to Rs.200,000 by uses equ1ty shares, of the same amount



Particulars ‘

Earningé Per Share (Rs.)

Cost of Capital (K) (%)

Internal Rate of Return (z) (%)
 Dividend Payout Ratio (%)
- Retention Ratio (%)}

‘Rs. 20

12 Per cent.
14 i’er cent
20 Per cent
80 Per cent -

)
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16. From the following informétion; find out Market price of the Shar;a using Gordon's Di\}idend theory.

O“ 17. Calculate the Degree of Operating Leverage for a small firm con51der1ng the followmg detalls of
: ' cost, selling price and sales volume. '

Fixed Cost = Rs.20,000.
Variable Cost = Rs. 25 per unit.

Selling Price = Rs. 40 per unlt

Present sales volume = 5,000 Units: :

Expeeted sales volume = 6,000.

4

. Further analyse the 1mpact on Operatmg Leverage if ﬁxed cOSt is Rs.25, 000 instead of RS.20,000.

Part D

Answer the compulsory questions.
"Each question carries 6 weightage.

(3 x 4 = 12 weightage)

.

C y 18. ABC limited has under consxderatlon two mutually exclusion proposals for the purchase of new

- equlpment

Particulars’ ‘Machine X Machine Y

: | Net cash outlay (Rs) 1,00,000 75,000
Salvage ' Nil Nil |
Life (years) 5 5
PBDT (Rs) Rs.  Rs.
1 25,000 18,000
2 30,000 20,000
3 35,000 92,000
4 25,000 20,000
5 20,000 © 16,000
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Assuming the tax rate to be 50 percent, su'ggést the management the best alternative using. '
(i) Payback Period. ' | '
(ii) Average Rate Return.
_(iii) Net Present Value at 10 per cent.
" (iv) Profitability Index at 10 per cent. X
B - - (6 x 1 = 6 weightage)



